BK Albrekts
Tisdagsbridgen 2019-03-19

Partavling, 12 bord, 23 par. Antal brickor: 24. Medel: 240.7. Frirond (*) ger egen procent.

Plac  Par Poéng % Namn MID Klubb
1 22 318.7 66.40 Lars-Olof Carlsson - Stig-Olof Hermansson 37071 26783  BK Albrekts
2 23 304.0 63.33 Gunilla Jern - Margaretha Sintorn 45624 19348  BK Albrekts
3 20 293.3 61.10 Ulla Johansson - Lennart Johansson 43750 43749  BK Albrekts
4 16 277.4 57.78  Georgios Faltsetas - Lars Svensson 32393 2688 BK Albrekts
5 6 271.0 56.46 Egon Osterbrand - Ulla Osterbrand 89890 89889  BK Albrekts
6 11 263.1 54.81  Annica Carlsson - Christina Ederberg 56440 56439  BK Albrekts
7 18 259.3 54.03 Birgit Ekman - Anders Ekman 42256 42257  BK Albrekts
8 15 254.3 52.97 Bo Johansson - Carl-Olof Jagebro 7290 26790  BK Albrekts
9 13 250.5 52.20 Lars-Goran Larsson - Erling Ohlsson 2743 87034 BK Albrekts
10 2 249.5 51.98  Ingrid Dahlin - Agneta Klint 45452 53947  BK Albrekts
11 8 246.8 51.42 Hakan Bjorklund - Ann Ohnedal 38101 53984  BK Albrekts
12 10 242.7 50.57 Jorgen Neldemo - Torleif Hagg 18660 12267  BK Albrekts
13 24 242.1 50.43  Jan-Ake Ericsson - Bengt Bengtsson 10723 19714  BK Albrekts
14 3 239.5 49.90 Claes Bdorjesson - Stellan Adolfsson 92022 5088 BK Albrekts
15 21 237.0 49.38  Sten Jonsson - Bengt Larsson 24089 7391 BK Albrekts
16 17 234.9 48.95  Ann-Sofi Helmersson - Arne Helmersson 60740 7286 BK Albrekts
17 19 221.3 46.11 Jesper Swedenborg - UIf Persson 7369 2787 BK Albrekts
18 9 212.7 44.32 Gunvor Bengtsson - Birgitta Lénberg 19715 13579  BK Albrekts
19 14 199.9 41.64  Bodil Gustafsson - Karin Edler 22165 30687  BK Albrekts
20 4 192.2 40.04 Mats Ahlstrom - Kenneth Svensson 16032 14859  BK Albrekts
21 5 181.7 37.85  Villy Havasi - Andrea Nilsson 89205 58762  BK Albrekts
22 12 176.7 36.81 Lena Ljungberg - Birgit Callenberg 30682 12179  BK Albrekts
23 7 166.7 34.74  Vigdis Hegland - Annemarie Mauritzson 40161 58682  BK Albrekts
1 4 KKn10 Basta kontrakt 2 & E543 Basta kontrakt 3 ~ E82 Basta kontrakt
Nord vK5 2NT N =120 Ost vD107432 34 O =-140 Syd v D52 24 V =-110
Ingen ¢ KDKn43 NS +9 ov + E876
%954 & ¢ v & NT *73 & ¢ v & NT #Kn105 & ¢ v & NT
4875 « E62 N6 96 88 4 DKn62 «K107 N56545 4104 4 KD653 N6 7556
vD1084 vE932 S6 96 838 vEK865 vKn S575 45 vEK76 v984 S6 7556
¢E2 +1097 06 4745 +8 ¢ Kn7643 O0O86 89 8 ¢+ D4 ¢ Kn109 O7 67 86
210872 #KKn6 V64745 #E109 #KKn54 V7618938 #E8743 #96 V767286
D943 498 & Kn97
vKn76 v9 v Kn103
+ 865 + EKD1052 + K532
#ED3 «D862 #KD2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
15 2 INN+2 v2 150 200 0.0{10 20 3vDV-3 9 500 200 0.0(13 7 INV-2 +6 200 20.0 0.0
6 23 24 S+1  +A 140 180 20| 9 18 2¢ S+1 vA 110 170 30| 2 14 INV-1 +6 100 150 5.0
5 21 INN+1 3 120 140 6.0(11 22 2¢ S+1 YA 110 170 30|11 21 2#V-1 v2 100 150 5.0
10 20 INN+1 #3 120 140 6.0(17 3 2¢vyDV-1 9 100 140 60|16 3 2&V-1 v2 100 150 5.0
12 24 INN+1 v2 120 140 6.0(15 2 2¢ S= vA 90 120 80|17 9 INV-1 *7 100 150 5.0
7 14 24 S= v8 110 10.0 10.0| 6 23 2v V-1 +9 50 8.0 12.0(10 19 INN= 9 90 10.0 10.0
9 18 3v V-2 +K 100 8.0 120 7 14 2v V-1 +9 50 80 12.0| 8 15 INV= *J -90 7.0 13.0
16 8 INN= *T 90 50 150|16 8 3v V-1 +9 50 8.0 120(18 4 INO= *K -90 7.0 13.0
17 3 INN= v2 90 5.0 150 4 19 44 0= ¢ A -130 40 160 5 20 2v V= ¢ A -110 2.0 18.0
4 19 2v V-1 +K 50 20 18.0| 5 21 3¢ S-2 vA -200 20 18.0| 6 22 2v V= ¢ A -110 2.0 18.0
11 22 44 S-2 v4 -100 0.0 20.0(12 24 2¢DS-2 vA -500 0.0 20.0(12 23 2v V= oA -110 2.0 18.0
- 13 11.2| - 13 11.2| - 24 10.6
4 41094 Basta kontrakt 5 4953 Basta kontrakt 6 4 E1076 Basta kontrakt
Vast v Kn6 34V =-110 Nord v94 24 O =-110 Ost v 652 54 S D -3-500
Alla + EKKn874 NS + D1096 ov +93
#96 & ¢ v & NT #EKKn4 & ¢ v & NT #DKn86 & ¢ v & NT
D8 4 EKKNn3 N4 77 4 4 4 EK87 4D1042 N7 8756 4 KD932 4 Kn84 N85115
v9532 vD8 S477 44 vE2 v DKn85 S7875686 v EKDKn73 v 109 S85115
+ D652 ¢109 095677 ¢ KKn2 ¢83 06 56 87 ¢- ¢EK10854 O 5 7 9 107
#EK5 &DKn832 VI5677 210832 #975 V656187 #105 *K4 vV 479 107
47652 + Kn6 45
v EK1074 v K10763 v84
+3 ¢ E754 + DKn762
#1074 «D6 #E9732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
16 3 44 0-1 vA 100 200 0.0(19 5 2¢ S= a A 90 200 0.0 3 15 54 V-2 *Q 200 190 10
6 22 2¢ N= oA 90 170 30| 9 16 INV-1 *A 50 180 20|14 8 5v V-2 *Q 200 19.0 10
13 7 2¢ N= oA 90 17.0 30| 3 15 INV= LY 90 140 6.0 6 21 44 V-1 *0Q 100 150 5.0
11 21 2¢ N-1  4A -100 130 7.0| 6 21 INV= *A 90 140 6.0(18 10 44 V-1 *Q 100 150 5.0
17 9 2¢ N-1 4A -100 130 7.0|18 10 INV= +9 90 140 6.0(11 20 2v V+1 &Q -140 120 8.0
520 3&V-= + K -110 9.0 11.0|11 20 24 V= *A -110 100 10.0|12 22 3v V+1l +9 -170 10.0 10.0
10 19 34 0= vK -110 9.0 11.0| 7 24 INV+1l &A -120 50 15.0| 2 13 4v V= *Q -620 7.0 13.0
12 23 2NV = ¢ A -120 6.0 14012 22 INV+1l &A -120 50 15.0| 9 16 4v V= *Q -620 7.0 13.0
8 15 2¢DN-1 &K -200 40 160(14 8 INV+1 &A -120 50 15.0|17 4 4y V+2 3 -680 40 16.0
2 14 3NV+1 ¢ -630 1.0 19017 4 INV+1 &A -120 50 15.0|19 5 4vDV= «£Q -790 2.0 18.0
18 4 3NV+1l +A -630 1.0 19.0| 2 13 INV+2 &J -150 0.0 200 7 24 6NO= *2 -1440 0.0 20.0
- 24 106| - 23 11.7| - 23 11.7
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7 49 Basta kontrakt 8 4 Kn9754 Basta kontrakt 9 & K654 Basta kontrakt
Syd v Kn93 6v S =1430 Vast v D82 4v V =-420 Nord vD9 4v O =-620
Alla + KDKn86 Ingen + 1053 ov +E3
#ED64 & ¢ v & NT D2 & ¢ v & NT #EKKNn96 & ¢ v & NT
D754 #EK10632 N 6 12125 7 4 E3 41086 N2 4254 43 « EDKnN9 N6536 4
v1054 v2 S 6 12125 7 v7543 vKKnl0 S 24254 v EKn8652 vK43 S6 536 4
+94 ¢ 102 06 0060 ¢+ K7 ¢+ ED84 O 119 108 8 ¢ Kn96 + K1074 O6 8 106 7
#K973 #Knl085 V60060 #E9764 #K103 V 119 108 8 #3842 #D10 V 6 8 107 7
4 Kn8 4 KD2 410872
v EKD876 v E96 v 107
¢+ E753 + Kn962 + D852
*2 #Kn85 #753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 14 6y S= 45 1430 200 00|18 5 3NV-2 a5 100 200 00| 7 22 4v V-1 A 100 19.0 1.0
2 24 4vy S+2 a4 680 11.0 90|19 11 INV= a4 -90 18.0 2.0(16 10 4v V-1 LY 100 19.0 1.0
4 16 4v S+2 v5 680 11.0 90| 3 14 34 V= a4 -110 150 5.0 5 17 INN= 49 90 16.0 4.0
8 13 5v S+1 45 680 11.0 9.0|10 17 2 V+1l 44 -110 15.0 5.0|20 12 INN-1 ¢ 7 -50 14.0 6.0
10 17 4v S+2 ¢4 680 11.0 90| 2 24 INO+1 &K -120 12.0 8.0|11 18 34 N-2 vK -100 11.0 9.0
15 9 5v S+1 44 680 11.0 90(20 6 3v V= *0Q -140 10.0 10.0(19 6 34 N-2 v3 -100 11.0 9.0
18 5 4v S+2 +9 680 11.0 90| 7 23 INO+2 &K -150 7.0 13.0| 2 23 3v V= A -140 7.0 13.0
19 11 5v S+1  ¢9 680 11.0 90| 8 13 24 N-3 46 -150 7.0 13.0| 3 13 2¢v V+1 &A -140 7.0 13.0
20 6 4v S+2 44 680 11.0 90| 4 16 2NO+3 v6 -210 3.0 17.0| 8 24 2y V+2 &A -170 40 16.0
12 21 5v S= a5 650 20 18015 9 2NO+3 &5 -210 3.0 170 4 15 44DN-3 ¥3 -500 1.0 19.0
7 23 44 O-3 vA 300 0.0 200(12 21 3NO= a2 -400 0.0 200 9 14 44DN-3 ¥K -500 1.0 19.0
- 22 114 - 22 114 - 21 10.9
10 +D10 Basta kontrakt 11 4 D985 Basta kontrakt 12 4432 Basta kontrakt
Ost v 102 2NT O =-120 Syd vE102 ANT V =-430 Vast v 876 6v V =-980
Alla ¢ E73 Ingen 49542 NS ¢ 762
#D109875 & ¢ v & NT *75 & ¢ v & NT #K954 & ¢ v & NT
47543  aKn82 N855565 «Kn764 & EK103 N3 77 43 4 E1096 4« DKn8 N19117
vEK63 vDKn5 S855565 vDKn6 v95 S37743 vKDKn105 v9432 S19116
¢+ KD106 542 O5 8 8 8 8 ¢+ KKn10 +¢6 O 106 6 9 10 +85 ¢- O 124 12114
*E #K643 V58888 +D86 #EKKNn1092 V 106 6 9 10 &Kn7 #ED8632 V 124 12114
& EK96 a2 4 K75
v 9874 v K8743 vE
+ Kn9g + ED873 + EKDKNn10943
#Kn2 *43 +10
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 23 2v V-1 «Q 100 200 00|21 7 44 V-2 vA 100 190 10| 4 14 5¢ S= vK 600 200 0.0
4 15 INV= &7 90 16.0 40(22 2 4a4V-2 +9 100 190 10(22 2 4v V-1 2 50 18.0 2.0
7 22 2¢ V= »7 90 16.0 4.0 3 24 44 O-1 &2 50 120 80| 6 18 5¢ S-1 s A -100 15.0 5.0
9 14 INO= 46 90 16.0 40| 4 14 44 0O-1 v3 50 120 80(21 7 5¢S-1 s A -100 15.0 5.0
5 17 2y V= Lye) -110 11.0 9.0| 9 13 4a V-1 &7 50 120 80| 5 16 5¢ S-2 vK -200 11.0 9.0
20 12 2y V= «Q -110 11.0 9.0|10 15 4a V-1 vA 50 120 80| 8 23 54DS-1 &A -200 11.0 9.0
8 24 INV+1 &7 -120 6.0 14.0|17 11 4e V-1 &5 50 120 80| 3 24 5vV+1l ¢2 -480 5.0 15.0
11 18 INO+1 4A -120 6.0 140| 6 18 3v S-2 *6 -100 6.0 14.0| 9 13 5v V+1 7 -480 5.0 15.0
16 10 2NO = s A -120 6.0 14012 19 4e V= +9 -420 40 16.0|10 15 5vV+1 2 -480 5.0 15.0
3 13 2NO+1 &K -150 1.0 19.0| 8 23 44 V+1l ¢4 -450 2.0 18.0(17 11 5v V+1 2 -480 5.0 15.0
19 6 INO+2 #9 -150 1.0 19.0| 5 16 4vDS-3 +4 -500 0.0 20.0|12 19 6¢DS-3 ¢¥K -800 0.0 20.0
- 21 109( - 20 101 - 20 10.1
13 & 642 Bésta kontrakt 14 D983 Bésta kontrakt 15 4109 Bésta kontrakt
Nord v E65 2 O =-90 Ost v KKn103 6NT O =-990 Syd v DKn10 3v V =-140
Alla ¢ D542 Ingen ¢+ Kn754 NS + D108654
#E54 & ¢ v & NT »8 & ¢ v & NT #103 & ¢ v & NT
4 E107 4Kn83 N56 777 « EKn10 4K54 N22221 4« Kn5 & E832 N49 476
vKD3 v 942 S56777 vE876 v D95 S22221 vE982 v6543 S49476
¢ K9863 ¢ Knl0 O8 7 6 6 6 + EK6 ¢+ D32 O 1111111112 ¢E3 ¢ Kn 094967
#63 #KDKn109 V 8 7 6 6 6 &EKD #Kn1032 vV 1111111112 #D9762 &EKn54 V94967
4 KD95 4762 4 KD764
v Kn1087 v42 v K7
¢ E7 41098 + K972
#872 297654 #K8
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
20 7 2NV -4 46 400 200 00|23 3 6NV-1 ¢+5 50 200 0.0|11 15 5#V-3 aT 150 200 0.0
10 14 2v N= *J 110 180 20(20 7 3NV+1l T -430 18.0 2.0|12 17 34 S= »2 110 170 3.0
18 12 INO-1 49 100 140 6.0[10 14 3NV+2 ¢4 460 13.0 7.0|23 9 3¢ N= v6 110 17.0 3.0
22 8 3¢ V-1 46 100 140 6.0|11 16 5NV= ¢+5 -460 13.0 7.0|10 13 1a S= ¢ A 80 120 8.0
23 3 INO-1 a5 100 140 6.0(18 12 3NV+2 T -460 13.0 7.0|20 2 1a S= &7 80 120 8.0
5 15 INO= &K -90 10.0 10.0(22 8 3NV+2 ¢4 460 13.0 7.0|21 8 1a S= ¢ A 80 12.0 8.0
2 21 INO+1 &K -120 6.0 140| 2 21 3NV +3 3 -490 50 150| 3 22 3aV-1 aT 50 7.0 13.0
4 13 INO+1 +8 -120 6.0 140| 4 13 3NV+3 vT -490 50 15.0| 5 14 4v O-1 7 50 7.0 13.0
6 17 INO+1 &K -120 6.0 140| 5 15 5NV +1 &8 -490 50 150| 6 16 INO= &K -90 4.0 16.0
11 16 INO+2 &5 -150 20 180 6 17 3NV+3 vJ -490 50 15024 4 14 S-1 *7 -100 2.0 18.0
9 24 2¢ S-3 vK -300 0.0 200| 9 24 6NV = *4 -990 0.0 200| 7 19 2¢O+1 K -140 0.0 20.0
- 19 11.0( - 19 11.0( - 18 10.0
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16 41074 Basta kontrakt 17 4 EKn965 Basta kontrakt 18 4 D10432 Basta kontrakt
Vast v ED862 4v N =420 Nord v2 46 N =420 Ost v 83 2NT O =-120
ov .- Ingen + E86 NS + E86
&#E8763 & ¢ v & NT &EK83 & ¢ v & NT #Kn92 & ¢ v & NT
4E653 #4Kn98 N7 5 106 7 D843 4102 N 109 9 109 495 « EK876 N7 5555
vKn95 vK S 7 5 106 7 v7 vDKn10863 S 109 9 109 v EKKn5 v D106 S 74454
+54 ¢EKKNn8732 O 6 8 3 7 6 ¢ Kn542 ¢ KD10 034434 +10732 ¢ KD4 O6 887 8
&#K1054 #D9 V68376 &#D654 &Kn2 V 34434 #1076 K3 V68878
& KD2 & K7 & Kn
v 10743 v EK954 v 9742
+ D1096 +973 + Kn95
&Kn2 #1097 #ED854
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
21 8 4¢DO-3 ¥3 800 2000 0.0|11 14 44 N= ¢+ K 420 190 10| 2 19 3NV-2 a3 100 20.0 0.0
24 4 4¢DO-2 oK 500 180 20|21 3 44 N= vQ 420 190 10| 8 20 3NO-1 &4 50 150 5.0
10 13 4v N= *A 420 160 40| 6 15 3NS= v7 400 140 6.0|11 14 3NO-1 &4 50 150 5.0
12 17 3¢ O-2 v4 200 140 6.0 8 20 3NS= v7 400 140 6.0(13 5 INV-1 &2 50 150 5.0
5 14 3y N+1 ¢K 170 120 80|13 5 3NS= &5 400 140 6.0(22 9 3NO-1 &4 50 150 5.0
3 22 2v N+1  ¢A 140 9.0 11.0| 2 19 2NS+2 v7 180 10.0 100| 4 23 INO= &4 -90 9.0 11.0
7 19 3v N= ¢ A 140 9.0 11.0| 7 18 2v O-3 a7 150 8.0 120( 6 15 INO= &4 -90 9.0 11.0
6 16 2v N= *A 110 6.0 14.0|12 16 34 N= vQ 140 6.0 140| 7 18 INO+1 4 -120 5.0 15.0
11 15 34 V-1 vA 100 40 16.0| 4 23 3¢ S= v7 110 40 16.0(12 16 INO+1 #4 -120 5.0 15.0
23 9 3vN-1 ¢ A -50 20 18.0(22 9 2v0O-2 &K 100 20 18.0|24 10 INO+2 4 -150 2.0 18.0
20 2 3¢ O= &2 -110 0.0 20.0|24 10 3NS-1 *2 -50 0.0 200|21 3 3NO= +5 -400 0.0 20.0
- 18 10.0| - 17 84| - 17 8.4
19 442 Basta kontrakt 20 4965 Basta kontrakt 21 & EK10983 Basta kontrakt
Syd v EKD98 24 S =110 Vast v52 3¢ V =-110 Nord vKn74 5¢ OD-1100
ov ¢ DKn652 Alla + D10 NS ¢-
&6 & ¢ v & NT #DKn8752 & ¢ v & NT #KD86 & ¢ v & NT
«D3 & Kn76 N6 88 87 4ED743 #Kn82 N7 47 45 & Kn a2 N4 3897
vKn754 v63 S 68887 v4 v KD98 S848565 vED v 9852 S 43 7 107
¢ K1084 ¢ E73 O75 446 ¢ EKn95 ¢ 8742 059586 ¢ ED7652 ¢ Kn843 O 9 105 3 6
873 &#EKD105 V75546 #K63 104 V59586 &#Knl043 #»E972 V 9 105 3 6
« EK10985 4 K10 4 D7654
v 102 v EKn10763 v K1063
+9 + K63 + K109
#Kn942 &E9 &5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 21 44 N= &A 420 2000 0.0| 8 19 3vyDS= &A 730 2000 0.0| 2 17 44 N+1 &7 650 20.0 0.0
3 20 24 S+2 &8 170 180 20| 2 18 34 V-3 v5 300 170 30| 3 19 44 N= +3 620 12.0 8.0
22 4 3vy N= &K 140 16.0 40| 9 21 44 V-3 v5 300 170 30| 4 21 44 N= a2 620 12.0 8.0
5 24 24 S= v4 110 140 6.0 5 24 34 V-2 v5 200 13.0 7.0 6 13 44 S= *A 620 12.0 8.0
7 17 3v N-1 &A -50 80 120| 7 17 34 V-2 v5 200 13.0 7.0 8 18 44 N= *4 620 12.0 8.0
8 19 3v N-1 &A -50 80 12013 11 34 V-1 v5 100 9.0 11.0| 9 20 44 N= v5 620 12.0 8.0
13 11 44 S-1 &3 -50 80 12022 4 24 V-1 &Q 100 9.0 11.0|14 12 44 N= a2 620 12.0 8.0
14 6 24 S-1 LX) -50 80 120| 3 20 3vS-1 v4 -100 50 15.0|24 11 44 N= v8 620 120 8.0
23 10 34 S-1 &3 -50 80 120|114 6 3vS-1 v4 -100 50 15.0| 7 16 54 N-1 *4 -100 2.0 18.0
2 18 44 S-2 +8 -100 1.0 19.0(23 10 24 V+1 ¥5 -140 20 18.0|10 22 4e N-1 v9 -100 2.0 18.0
12 15 3v N-2 &A -100 1.0 19.0(12 15 4vDS-4 &A -1100 0.0 20.0|23 5 54 N-1 *4 -100 2.0 18.0
- 16 125 - 16 125 - 15 11.6
22 a- Bésta kontrakt 23 & K963 Bésta kontrakt 24 & K105 Bésta kontrakt
Ost v KD9543 5v SD-2-300 Syd v D76 44 S =130 Vast v EKn6 ANT N =430
ov + KKn4 Alla + K10 Ingen + E108
&DKn84 & ¢ v & NT &#E983 & ¢ v & NT &E1095 & ¢ v & NT
« ED8 109765 N6 2 9 46 «4ED1072 &Kn N 104 5 7 7 4 E6 #8732 N 108 101010
vKn vE102 S6 2946 v532 v EKn984 S 104 5 7 7 v72 v 10983 S 108 101010
+ ED2 4109853 O6 114 9 6 ¢ 8652 ¢+ DKn974 O3 886 4 ¢ KD9543 ¢ 76 035333
#KI7652 &- V 7 114 9 6 &4 &KD V 3886 4 &K62 &#Kn43 V35333
& KKn432 4854 & DKn94
v 876 v K10 v KD54
+76 ¢ E3 ¢ Kn2
#E103 #Kn107652 D87
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 13 3&V-2 vK 200 190 10(10 21 4v O-2 L Y] 200 2000 0.0| 3 18 3INN+3 vT 490 20.0 0.0
23 5 34 0-2 v8 200 190 10| 3 18 INS+3 v2 180 180 20|15 7 3NN+2 ¢7 460 180 2.0
14 12 3vy N+1 a5 170 16.0 40| 4 20 24 S+2 &4 130 120 80| 4 20 3NN+1 &3 430 9.0 11.0
2 17 2v N+1 T 140 11.0 90| 5 22 3aN+1 ¢Q 130 120 80| 5 22 3NN+1 ¢7 430 9.0 11.0
3 19 2y N+1 T 140 110 90| 8 17 3& N+1 & 130 120 80| 8 17 3NN+1 o7 430 9.0 11.0
8 18 3v N= T 140 11.0 9.0 9 19 44 N= v6 130 120 80| 9 19 3NN+1 ¢7 430 9.0 11.0
10 22 3vy N= aT 140 11.0 9.0(15 7 44 N= a] 130 120 8.0(10 21 3NN+1 +¢6 430 9.0 11.0
24 11 4v N-1 oT -50 6.0 14.0|11 23 2vO-1 & 100 40 16.0|11 23 3NN+1 7 430 9.0 11.0
7 16 4vyDN-1 T -100 40 16.0(13 12 3¢ O-1 &5 100 40 160|116 2 3NN+1 7 430 9.0 11.0
4 21 4vyDN-2 &5 -300 10 190|116 2 3vO-1 *A 100 40 16.0(24 6 3NN+1 o7 430 9.0 11.0
9 20 5vDN-2 45 -300 1.0 190(24 6 2vO0O-= &2 -110 0.0 20.0|13 12 4v S= +K 420 0.0 20.0
- 15 116 - 14 83| - 14 8.3
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